Orust BK

Barometer 2022-01-13

Partavling, 3 bord, 6 par. Antal brickor: 25. Medel: 50.0.

Plac Par Poéng % Namn MID Klubb
1 5 59 59.00 Erling Lennartsson - Leif Martinsson 7457 7463 Orust BK
2 2 56 56.00 Bengt Hilling - Bernt Johansson 10849 9164 Orust BK
3 1 53 53.00 Eva Glans - lvan Abrahamsson 8552 15144 Tjorns BK
4 3 51 51.00 Kjell Holmgren - Bertil Andersson 10291 79726 Orust BK
5 4 44 44.00 Olle Kimfalk - Tommy Gyllin 84905 13152 Brastads BS
6 6 37 37.00 Dolf Bergman - Peter Koepke 1618 26865 Orust BK
1 452 Basta kontrakt 2 o E Basta kontrakt 3 & KKn4 Basta kontrakt
Nord v EKD85 5¢ N =450 Ost v Kn532 34 O =-140 Syd v EKDKn95 ANT S =430
Ingen + EDKn6 NS + 87643 ov + D7
#D5 & ¢ v & NT »E62 & ¢ v & NT #Kn9 & ¢ v & NT
4109843 «EKD6 N9 11118 8 4 Kn109763 & K4 N3 6745 « D86 41072 N 7 7 109 10
vKn4 v92 S 9 11118 8 v10 v EK76 S367 45 v 104 v63 S 7 7 109 10
¢+ K84 4972 020050 + D9 ¢ EKn2 096 6 98 ¢+ E86532 ¢ Kn4 06 5213
#1094 #Kn863 V21050 #10953 #KD74 V9669 8 83 #EK10742 V 6 6 2 1 3
& Kn7 & D852  E953
v 10763 v D984 v 872
41053 + K105 + K109
#EK72 #Kn8 »D65
Par  Kontr Ut Res  Poang Par  Kontr Ut Res  Poang Par  Kontr Ut Res  Poang
2 4 49y N+1 4A 450 20 2.0 2 4 44 V-1 *7 50 4.0 0.0 2 4 49y N+1 &A 450 4.0 0.0
3 5 4¢v N+1 &K 450 20 20 6 1 24 V+1 *2 -140 2.0 2.0 3 5 44 S-1 3 -50 1.0 3.0
6 1 4v N+1 &K 450 2.0 2.0 35 440= va -420 0.0 4.0 6 1 4v N-1 &K -50 1.0 3.0
4 & Kn Bésta kontrakt 5 4 KD765 Bésta kontrakt 6 » EKD9642 Bésta kontrakt
Vast v 1043 54 V =-650 Nord vD108764 7v N =2210 Ost v K5 54 N =450
Alla + E875 NS +8 ov 2
#E9765 & ¢ v & NT »5 & ¢ v & NT #Kn85 & ¢ v & NT
« EK1098764 & D53 N7 89 25 4 Kn9832 4 E104 N 9 13139 12 41075 48 N 107 4 119
v- v 9872 S78925 v 953 vK S 9 13139 12 v 1043 vEDKn986 S 8 7 4 107
+D ¢ KKn64 06 4 4 115 ¢+ Kn3 47654 040040 + K10875 +64 035924
#K1083 D4 V 6 4 4 115 +D72 #109864 V40040 *K6 #10943 V35924
a2 a- 4 Kn3
v EKDKn65 v EKn2 v72
410932 + EKD1092 + EDKn93
#Kn2 #EKKn3 #ED72
Par  Kontr Ut Res  Poang Par  Kontr Ut Res  Poang Par  Kontr Ut Res  Poang
2 4 44 O+1 v4 -650 2.0 2.0 2 4 6y N+1 4A 1460 20 2.0 4 3 44 N+1 vA 450 4.0 0.0
3 5 4eV+l *A -650 2.0 2.0 3 5 6yN+1l 4A 1460 20 2.0 15 44 N= *9 420 20 2.0
6 1 44 V+1 vT -650 2.0 2.0 6 1 6vS+1 29 1460 2.0 2.0 6 2 44 N-1 29 -50 0.0 4.0
7 K6 Bésta kontrakt 8 » EK8732 Bésta kontrakt 9 a7 Bésta kontrakt
Syd vD9732 INTS =90 Vast v 765 5& V =-400 Nord v Kn62 2NT O =-120
Alla + E982 Ingen ¢+ E94 ov + K964
#Kn2 & ¢ v & NT *4 & ¢ v & NT #D5432 & ¢ v &4 NT
210875 493 N657 77 «Kn « D1054 N2 3664 & KKn « E1065 N56 565
v KKn vE1084 S65777 vED43 8 S2 466 4 v 94 v K8753 S565605
+ K6 ¢Knl0754 O 7 7 6 6 5 ¢+ KKn65 ¢ 1073 O 119 6 7 8 ¢+ ED83 ¢ 105 O7 6 87 8
#KD1095 #73 V77¢6¢675 #ED98 #KKnl1072 V 119 6 7 8 #EK1096 #87 V7618738
» EDKn42 » 96 # D98432
v 65 v KKn1092 vED10
+D3 + D82 ¢+ Kn72
*E864 #653 *Kn
Par  Kontr ut Res  Poang Par  Kontr ut Res  Poang Par  Kontr ut Res  Poang
15 24DV-2 oK 500 4.0 0.0 6 2 24 N-1 v8 -50 4.0 0.0 4 3 3&V-1 a7 100 4.0 0.0
4 3 3NN-1 ¢7 -100 1.0 3.0 4 3 24 N-2 v8 -100 2.0 2.0 15 1INV= a7 -90 2.0 20
6 2 2vN-1 &3 -100 1.0 3.0 15 3&V+2 oK -150 0.0 4.0 6 2 2NV= *2 -120 0.0 4.0
10 « KD862 Bésta kontrakt 11  EKn8752 Bésta kontrakt 12 & K10743 Bésta kontrakt
Ost v 8652 54 SD-1-200 Syd v 106 4v S =420 Vast vE6 ANT N =630
Alla 4652 Ingen + K92 NS ¢+ E75
*K & ¢ v & NT *73 & ¢ v & NT *E106 & ¢ v & NT
43 4975 N29 1102 21063  4D9%4 N 5 11109 8 4D862 4Kn N8 7 7 9 10
vED107 v K943 S29 1102 vKD v 7532 S 5 11109 8 v Kn9 v K8752 S7 77 9 10
¢ 107 ¢ E43 O 114 113 8 41086 73 071235 + KD832 ¢ Kn4 056543
#ED10942 #Kn65 V 114 113 8 #EKD96 #Kn842 V71235 *K9 #Kn8752 V56543
» EKn104 s K » E95
vKn v EKn984 vD1043
+ KDKn98 ¢ EDKn54 + 1096
#873 #105 #D43
Par  Kontr ut Res  Poang Par  Kontr ut Res  Poang Par  Kontr ut Res  Poang
15 3aN+1 &6 170 4.0 0.0 5 4 44 N= »2 420 4.0 0.0 2 1 24 N+2 ¢J 170 40 0.0
4 3 4aV-1 aK 100 20 2.0 2 1 3vS+2 «K 200 1.0 3.0 5 4 24 N+1 *4 140 20 20
6 2 24V +1 46 -110 0.0 4.0 6 3 2v S+3 +K 200 1.0 3.0 6 3 24 N= v5 110 0.0 4.0
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13 4 Kn976 Basta kontrakt 14 4 Kn1087 Basta kontrakt 15 4 D1087 Basta kontrakt
Nord v 63 34 O =-140 Ost vD74 4v O =-420 Syd v K3 4v V D -1 100
Alla + D104 Ingen + Kn543 NS +52
#9653 & ¢ v & NT »62 & ¢ v & NT #EKN943 & ¢ v & NT
a2 « KD1085 N46 445 « K54 « ED92 N76 245 62 » EKn954 N 106 4 6 8
vKD95 v1042 S56445 vE10932 vKn865 S76245 vKn952 v 108764 S 106 4 6 8
¢ K762 ¢85 087 9 98 ¢ EK10 + D6 06 6 109 7 ¢ EKn843 ¢ K10 037965
#8742 #EK10 V879938 «D3 #1087 V 6 6 109 7 *D6 *2 V379675
4 E43 63 « K3
v EKn87 vK vED
¢ EKn93 49872 + D976
#DKn #EKKn954 #K10875
Par  Kontr Ut Res  Poang Par  Kontr Ut Res  Poang Par  Kontr Ut Res  Poang
6 3 14a4DO-1 #Q 200 4.0 0.0 54 3y V= *2 -140 4.0 0.0 5 4 2¢DV-2 8 300 4.0 0.0
2 1 INN-1 LY6) -100 1.0 3.0 21 49 0= *K -420 1.0 3.0 2 1 3#S+1 46 130 20 2.0
54 INS-1 v5 -100 1.0 3.0 6 3 4v V= a7 -420 1.0 3.0 6 3 3NN-3 v8 -300 0.0 4.0
16 46 Basta kontrakt 17 4 Kn864 Basta kontrakt 18 4 K85 Basta kontrakt
Vast v76 7¢ N =1440 Nord v D102 44 O =-420 Ost v K3 3¢ O =-110
oV + E1075 Ingen ¢ KKn8 NS + K106
#E109862 & ¢ v & NT «D73 & ¢ v & NT #ED1075 & ¢ v & NT
+1074 » KKn852 N 12138 8 11 a7 #EK10952 N5 45 35 2107632 #E N8 3578
vKKn10942 ¢D3 S 12138 8 11 v87654 ¥3 S$54535 vEKn102 v964 S84578
+63 4942 010541 ¢E742 ¢ D9% 07 9 8 108 ¢ E543 ¢ DKn97 05986 4
+D3 #Kn54 V10541 *K54 #EKn2 V79 8 108 *- #Kn6432 V59864
«ED93 «D3 » DKn94
v E85 v EKKn9 v D875
+ KDKn8 41053 +82
*K7 #10986 #K98
Par  Kontr Ut Res  Poang Par  Kontr Ut Res  Poang Par  Kontr Ut Res  Poang
5 2 3NS+2 v9 460 3.0 1.0 1 3 240+2 vK -170 2.0 2.0 1 3 INN+3 &3 180 4.0 0.0
6 4 3NS+2 a7 460 3.0 1.0 52 24 0+2 vK -170 2.0 2.0 6 4 INN+2 s A 150 20 2.0
1 3 44 S+1 vJ] 150 0.0 4.0 6 4 24 O+2 vK -170 2.0 2.0 5 2 3NN-1 aA -100 0.0 4.0
19 « D107 Bésta kontrakt 20 «D10862 Bésta kontrakt 21 & K64 Bésta kontrakt
Syd vD4 3¢ S =110 Vast v K873 24 N =110 Nord v9 34 N =140
oV + EK106 Alla *4 NS + KD6
#D1093 & ¢ v & NT *K87 & ¢ v & NT #E97532 & ¢ v & NT
» EK3 » Kn9864 N6 9657 oK  EKNn93 N55886 452 « D987 N 10106 9 6
vE953 v K102 S6 9657 vD9 vE52 S55886 v 83 vEKDKn754 S 10106 9 6
*7 4942 O7 4685 ¢ K109832 ¢ Kn6 088557 ¢ Kn9875 ¢3 033734
#Kn8754 #K6 V746875 #Kn543 +D1062 V88557 #DKn106 #8 V33734
452 4754 » EKn103
v Kn876 v Kn1064 v 1062
+ DKn853 ¢+ ED75 + E1042
»E2 »E9 *K4
Par  Kontr ut Res  Poang Par  Kontr ut Res  Poang Par  Kontr Ut Res  Poang
5 2 3¢ S= oK 110 4.0 0.0 6 4 3vS= oK 140 4.0 0.0 3 2 4¢9DO-2 &K 300 4.0 0.0
1 3 INN= a4 90 20 2.0 1 3 24 N= +J 110 2.0 2.0 4 1 4v 0O-2 *K 100 1.0 3.0
6 4 24 O= &A -110 0.0 4.0 52 3vyN-2 +J -200 0.0 4.0 6 5 4vyDO-1 &A 100 1.0 3.0
22 & Kn964 Bésta kontrakt 23 454 Bésta kontrakt 24 «D8 Bésta kontrakt
Ost vE1093 2NT N =120 Syd v DKn97 ANT S =630 Vast v KD953 2V =-90
oV + 1032 Alla + KD3 Ingen + Kn109
*84 & ¢ v & NT +D654 & ¢ v & NT #EKn8 & ¢ v & NT
&3 « KD852 N8 556 8 4976 «D1083 N8 7 7 8 10 # KKn1053 49 N4 7776
vKKn5 D876 S85567 vE108 v 652 S87 7 8 10 v764 v EKn10 S57776
¢ D9874 ¢ EG5 048765 ¢ Kn109876 +¢5 056 443 ¢E2 ¢ 8763 086 6 6 7
K765 #10 V48765 +10 #EK973 V56443 #753 #KD1094 V86 6 67
«E107 # EKKn2 «E7642
v42 v K43 v 82
+ KKn ¢ E42 + KD54
#EDKn932 #Kn82 *62
Par  Kontr ut Res  Poang Par  Kontr ut Res  Poang Par  Kontr ut Res  Poang
4 1 3#DS= 43 470 4.0 0.0 4 1 3NS+1 &T 630 4.0 0.0 3 2 INN= *Q 90 4.0 0.0
32 3¢V-1 &4 100 1.0 3.0 3 2 INN+1 *K 120 2.0 2.0 6 5 24 S-1 &5 -50 2.0 2.0
6 5 3¢ V-1 *8 100 1.0 3.0 6 5 4vy N-2 +K -200 0.0 4.0 4 1 24 S-2 3 -100 0.0 4.0
25 a-
Nord v-
ov .-
-
a- a-
v-v-
¢- .-
S &
» -
v-
¢ -
-
Par  Kontr ut Res  Poang
32 A=/A= 20 2.0
4 1 A=/A= 20 2.0
6 5 A=/A= 20 2.0
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